Ypok 1 JKCKypCHs

- J

Buepa GbLia qu[éCHaH Hordz[a Jyn T€rsii BéTep, SAPKO CBeTI/fno COJHIIE.
HaCTOSHJ_II/II/I OCEHHUN JICHb. Bbl0 elie u 'BOCKPECEHBE. B BOCerCGHBe MBI HE
pa60TaeM Y Hac BBIXOIHOI AeHb. UTO [eIaTh B BHIXOLHOM AeHB? MbI I[YMaJ'H/I
exarb Ha ?KCKprI/IIO

Henaneko oT Hamero ropozia ecth prTaﬁ ropa M Ha rope ecTh erHOCTB Haum
pycckue py3bs emé He ObUTH Ha KPErocTH. 1103TOMY MBI J{yMaJlu eXaTh TyJIA.

- Kak MbI CHCM Tyz[a‘7 Cl'[pa]_HI/IBaJ'H/I OHH.

- CHaanIa eI[eM Ha MAlIXHE ¥ TOTOM TIEIIKOM, MBI OTBEUAIH.

- A exarb Ltonr0‘7

- Her, HE JIOIITO, cop01< IISTh MI/IHyT Ha MaIlfHe. A MOTOM IEIIKOM JBa Yaca, Ha
BepmHHy FOpBI.

- Xopotio!

B 5 uacos yTpa MBI CaZ[I/IJ'II/ICB B Ma]_HI/IHy 17§ Hoexann CHaqana 6BLIIO0 TEMHO, TOTOM
ObLT paccer. Ha nyuax COJ'IHI_[a BCE CHSUIO, ¥ IEPEBbs, U roust. [TTHUKH mebeTan,
MBI JJa%Ke BHJIC/TN TIaBIHHA!

- Bor! 310 Hama erHOCTB' Kpnqam/l MBI.
- Kpyro! S nymaro, TpyIHO Ha BEepIIMHY HOIHMMATHCS!
- Huuero! Ioitnémre apy3ss!

Mpz1 OCTaHOBI/IJ'II/I MamHHy Ha CTOﬂHKe u nome Fopa prTaﬂ Y MBI IILJTA MGL[J'IGHHO.
Ha ropy TOIHUMATTHC aJIBIINHKICTHI, FOHOIIH H JIEBYILIKU. BBLIO MHOTO JIFOJEH.
L[eﬂaﬂ TOJIIA.



- Hoqu}; TaK MHOTO JTIOIEit? CHpa,IJ_II/IBaJ'II/I He{mn Py 3bA.

- B namem ropone BCE aJIBHI/IHI/ICTBI' Mer IJ_IYTI/IJ'II/I

HaKOHeH MBI 6I>IJ'II/I Ha BepIJ_II/IHe I‘OpBI Ha pepinne cTosia erHOCTB v erHOCTI/I
60J’ILHII/IC npquLIe BOPOTA. Tosxe eCTh KaMCHHBIHA Basl. TaM Mbl JIOJITO TYIISIIH,
CMOTpeJ'II/I MOHYMEHTBI, CIIyLIa/IH paCCKa3BI 0 GUTBAX, O TEPOsiX, O UX XPAOPOCTH.

- CKOJIBKO BpeMeHI/I‘? CIIpamnBai AJeKceil.

- 10 yacoB, OTBEYA 1.

- O 6osxe! TTopa 3aBTpakars!

Ha erHOCTI/I eCTh JIaBKI/I Tam HpO,I[aIOT BKyCHLII/I 3aBTpaK yai u I[OMaHIHI/II/I
MorypT' \Y S XOpOI_HO 3aBTpaI<aJm [MoTom CIYCKATUCh BHU3. CHyCKaTBC}I BHU3
OYEHB JIErKO!

Bce GbUIN JIOBONBHBI U péﬂOCTHO TIEJIM TIECHH KOTJIA eXaJlu 06pe{THo HA MalINHe.

Jlekcnka
qyzxéCH\LIﬁ\-aﬂ\-oe\-ble wonderful
noroza (f) weather
1yTh (AyI0, AyelIb, IYIOT) to blow
TEM\bIii\-as1\-0€\-bIe warm
BeTep (m.) wind
SIPKO brightly
CBETHTb (CBETHT, CBETAT) to shine
HacToAI\Mii\-as1\-0e\-1e real
oceHH\uii\-s5\-ee\-1e of autumn
HE/IATICKO not far away
oT from
KpyT\0ii\-asi\-0e\-ble steep
kpernocth (f) fort
CcHaYaIA at first
TIEIIKOM on foot
JIOJITO for a long time

BepinHa (f)

top of mountain

CaUThCS (CaXKyCh, CATUIIBLCS, CATIATCS)

to sit down

I10€XAaThb

to start moving on transport

paccaer (m.)

sun rise

1y (m.) ray

CI/ISITB (cusiio, cHsiellb, CHAIOT) to beam

HTI/IL[a (f) bird

nqua (f) bird (diminutive)

IH€6eTaTB (tebeay, 1meOeyeb,
meGeyyT)

to chirp, to chatter

naBJIuH (Mm.)

peacock




KpUYAaTh (KPHUY, KPHUHIIb, KPUUAT) to shout
KPYTO steep
HOI[HI/IMaTBCH (HOI[HI/IMaIOCB to climb up
HOI[HI/IMaeIHBCH IOHUMAIOTCS)
HIYEro nothing
noiéMTe, Apy3bsi! lets go friends
OCTaHOBUTH to stop
crostuka (f) parking
abIMHKCT (M.) mountaineer
foHOMIA (M.) young boy
MHOTO many
nem\brif\-as\-oe\-bie whole , complete
tonma (f) crowd
Iy TUTH (1YY, IIYTHIIb, ITYTST) to joke
HaKOHéu finally
pouH\blif \-as\-0€\-bie strong
BOpOTA (always plural) gate
KaMeHH\bIif\-as1\-0e\-bIe of stone
BaJI (m.) rampart
MOHYMEHT (/. monument
outsa (f) war
xpei6pocu () bravery
60>Ke' god!
Hopa 3aBTPAKATH! time to have breakfast
naska (f)) small shop, store
3aBTpaK (Im.) breakfast
IPOJABATH , (pozaro, nponaéib, 0 sell

MIPOAAIOT)
J:[OMz{HJH\Hﬁ\-;I;I\-ee\-He home made
I/IOI‘ypT curd
CITyCKaThCs (CITyCKAIOCh, CITYCKACIIBCS, to descend, to climb down
CITYCKAIOTCS
BHM3 down
JIOBOJIBH\BIi1\-as1\-0€\-bIe satisfied
PATOCTHO happily
06paTHO back

GRAMMAR

The Past Tense:

In the past tense, Russian verbs do not change according to person. They change

only according to gender and number.




To form the past tense of verbs with the suffix -Tb in the infinitive (anTa-Th, H3yUa-
Tb) the suffix -6 is dropped and the suffix -, -n1a, -0 and -nu is added to the stem
of the infinitive. For example:

Verb uuta\rs (to read)

qyTa 11 for masculine gender
qyTa-Ia for feminine gender
qUTA-II0 for neuter gender
YUTA-TH for the plural

In the past tense, the verb 6bITh (to be) is never omitted in the following type of
constructions.

MBI B KOMHATE.

Mb! GBLIH B KOMHATE.

The past tense of the construction y MeHs ecTs is y MeHs 6611 ( ObL1a, GLIO, ObLIH)

ObUT | y MeHs ObLI cII0Baph. (OH) | had a dictionary.
OblTa | y MeHsl ObuIa KHUra (OHA) | had a book.

OBUIO | y MeHsl GbLIO HANBTO. (OHO) | had an overcoat
OBLTH y MeHsl ObIITH CTOBAPH U KHUTH. (OHH) nggsdlcuona”es e

No auxiliary verb is used in the formation of the interrogative and negative forms
of the past tense. The interrogative word kTo requires a verb in the masculine,
whereas the interrogative uro requires a verb in the neuter. (always in the singular).

Kro cumen B komHare? B komHaTe cuaena cecTpa.
Yro aexano Ha cTosie? Ha croJie jexkan y4eOHUK.

The genitive case answers the question :

(y) koro ---  for animate beings
(y) uero --- for inanimate objects

y koro ectb kuura? who has a book?
yero Bl Ooutechk? what are you afraid of?




The Genitive case of plural nouns

The genitive plural of nouns is identical with the accusative of nouns denoting

animal beings.

nouns ending in |no ending feminine nouns -ei
-a, -5 ending in a soft
)KéHHIHHa )I(éHHlPIH consonant
My>KqI/iHa My)K‘-II/iH MarTb MaTepéﬁ
KHHTA KHUT TeTpaim, TeTpaiz[eﬁ
neuter
nouns ending in
-0
CJI(SBO CJIOB
masculine nouns masculine nouns
ending in a hard ending in a soft
consonant consonant or
-OB 9K, 111, Y, 111,
CTYZ[éHT CTYI[éHTOB npenoz[aBaiTenL npenonaBaiTeneﬁ
CTOJI CTOJIOB CIIOBAPb cloBapeii
TOBAPHIIL TOBApHIIEH
HOX HOMKEH
OTLIBI OTLIOB neuter nouns
ending in -e
one noueit
masculine nouns | -eB masculine nouns
ending in - i ending in -bs the
IPy3bsi- Apy3eii nominative plural.
My3eit My3eeB ( with the stress on

(b-)eB

Oparthst - GpaThes,
CTYIIbS - CTYIIBCB,
JIePEBbS - JICPEBBEB

the ending)
masculine and
neuter nouns
ending in the -bst
nominative plural.
( with the stress on
the stem)

Peculiarities of the Genitive case plural.

(D
Nominative case Genitive case
-usl, -ue -UM
ayIuTOpHUs ayIUTOpUI
3/1aHNe 3TaHAN
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(2) Unstable vowels:

Feminine nouns

0 e
hard consonant + ka K, IILY, I + Ka
TapesIKa - TAPEIOK JICBOUKA - JICBOYCK
BHJIKA - BHJIOK JIEBYIIIKA - JICBYIICK
OCTaHOBKA - OCTAHOBOK YaIlIKa - YaIeK
OmMOKa - OMHGOK pyuKa - pydex
APTHCTKA - APTHCTOK JIOXKKA - JIOWKEK
BBICTABKA - BEICTABOK ko ToUKa - KohTOUCK
u +Ka consonant + Hs
KOTICHKA - KOTIEeK JIGPEBHS - ICPEBCHb
CKaMeiiKa - CKaMeek TECHS - TIeCeH
CeCTpE]: - CEeCTEp

Neuter nouns

0 € &

OKHO - OKOH ITUCBbMO - ITMCEM 03¢€po - 03ép
cepane - Cepac

Remember : The accusative plural of nouns denoting inanimate objects is identi-
cal with the nominative; the accusative plural of nouns denoting animate beings is
identical with the genitive.

Nouns ending only in the plural take either masculine or feminine genitive endings.

Feminine Masculine
JICHBIH - JICHET q)p};KTBI - Q)p};KTOB, OBOIIIH - OBOIIIEH
KaHI/iKyJIH - KaHI/iKYJ'I CTUXH - CTHXOB
ILIAXMAThI - [aXMaT Yachl - 4ACOB
GOTHHKH - GOTHHOK OYKH - OYKOB

Declension of the Neuter nouns ums (name ) and Bpems ( time) :

Singular Plural
nominative . % . .
. UM, BpEMs UMEHa, BpeMEHa
accusative
genitive VIMEHH, BPEMEHH UMEH, BPEMEH
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YunpaxHenus

Q.1. Read the given text and answer the following questions.

1)
2)
3)
4)
5)
6)
7)

Kor/:[a MBI HE pa60TaeM‘7

Kyﬂa BBI eann/I B BBIXOI[HOI/I JIEHB?

Kak BbI exam/I B ernocn,?

Kyﬂai HOI[HI/IMaJ'II/ICB aJ'IBHI/IHI/iCTBI FOHOIIH 1 z[eBymKI/I?
Yto BBI an[enn Ha )Jopore B errIOCTL‘7

Yro r{poz[a}qT Ha preHOCTM?

Korma BeI nenu necHu?

Q.2. Rewrite the following sentences in the present tense.

1)
2)
3)
4)
5)
6)
7)
8)

Buepa GblTa uyIecHas MOToa.

MBI lyMaiu exaTh Ha 9KCKYPCHIO.

OHH CaJUIINCh B MALIMHY

A naxe Bﬁz[ena napiuHal

Brr KpI/I‘{aJ'[I/I

Mpg1 6BIJ'II/I Ha BepI_[II/IHe TOpBI.

Tam oHH z[onro TyJIAIH, CMOTpeJ'II/I MOHYMEHTBI.
Tam npoJaBaIy BKYCHBIH 3aBTpaK.

Q.3. Read the given text. Find out the verbs and conjugate them.

B sockpecenve mol ne pa50maeM Vnac 8bIX0OHOU Oenb. Ymo Oeﬂamb 8 8bIXOOHOL

OeHb? Mur dymaﬂu examv Ha 31<c;<ypcu;0 Heaaﬂeko om Hawezo 20poda ecmo

I4

prmaﬂ 20pa u na 2ope ecmu Kpenocme. Haww pycckue Opy3vs ewé ne gudenu
Kpenocmu. Hoemomy Mbl dyManu exams myod.

Q.4. Match the adjectives with given nouns and write down the correct sentences.

Adjective Noun
Ceromus GonbLULOl JICHB.
B ropone ectp B8KYCHOE CTaUOH
Most KaMeHHasl TOPYyTa.
Tam cmapuie CTeHa.
TaM mpoaroT pycckas MOPOXKEHOE.
ot10 uyOecHbiil KPEMOCTH
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Q.5. Complete the following table matching with suitable past form of verb BbbITb.

boiTh Noun
V MeHs CJIOBeipL.
Tam MECTO.
VY Hac MaIlHHa.
Tyt ovLL KHHTH .
VY HuUX Gvina KpEcIIo.
Pamo Gvi0 TaMm.
Y Tebs oL PYyHKH.
B Gubnnorexe KHHTH .
B mapke JTFOJIH.
V Hac BBIXOJIHOM JICHb.

Q.6. Complete the following sentences as per the model.

Model: VY koro ectb Most KHUra?
VY Opara ecTh MOSI KHHTA.

V Kkoro ecth 00JIbIIIAs KOMHATA?

v ( ApYT) ecTh GOIbIIAS KOMHATA.

VY xoro ectb ci10Bapn?
v (OH) ecTb cIOBaphb.

VY xoro ectb Bpemsa?
v (s1) ecTb Bpemsl.

V KOTO eCTh nom?
v (oHn) ecth oM?

Q.7. Conjugate the verbs.

€XaTb

s ey MEI

Thl CACIIIBb BBI

OH €ACT OHH

CXAaTb




Q.8. Observe the picture. Match the numbers given in the picture with the given
words and write their meanings in English.

9 11
10 )

12

Numbers Russian words Meaning

H

3a60p

BOpOTa

nopora

COJIHIIE

o0itako

Hebo

ropa

KpEINoCTh

Ol |N|Io|O1B WD

TpaBa

I10JIC

[ERY
o

[N
[N

epeBO

[EEN
N

BEpIIMHA IOPBI

Q.9. Observe the picture. Write down the words shown in the picture and write
their plural forms.
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Q.10. Observe the picture and write the name of colour in the picture for
following objects.

TpaBa

KpCIOCTh

COJIHLIC

He0O

00J1aKO

BOpOTa

Q.11. Complete the following email to a friend of yours and invite him/her to an
excursion on the mountains.

Jopozoit opye/ /lopozasa noopyza !
Kak z[enai? V MmeHs BCE B nop;im(e. BeiBTpa MBI )13;MaeM exaTh Ha
) (0314 740107 %1 {0 T PP PP

My |
Tsoit npyr/ TBost moxpyra!

Q.12. Complete the following email to a friend of yours telling him/her to your
excursion about mountains.

Jopozoii opy2/ lopozasn nodpyza !

S xouy cka3ath Te0e 00 SIKCKypcuu. Buepa Mbl moexanau Ha SKCKYpPCHUIO.
MpI X0TenH BHIETh KPEMOCTh TaM

Troit apyr/ Teos moxpyra!

Q.13. Make questions to underlined words.

1. B BOCKpeceHbe MBI HE paboTaeM.

Ma1 JAyMajii €XaTb Ha SKCKYPCHIO.

B 5 gacoB yTpa MbI CaIWJINCh B MallIMHY U MMOCXAJIN.

MBI XOpOLIO 3aBTPAKAJIH.

CU

MpbI eieM Tyzia Ha MallMHE.
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Q.14. Rewrite the followmg sentences in past tense.
1. YTpom MsI He pa60TaeM

YV Hac BBIXOAHOMU JI€Hb.

Mpgb1 I/I,ZIéM TIENTKOM.

CHavarna ez[eM Ha MaIIII/IHe ¥ [IOTOM TICIIKOM.

Tam I‘YJIHGT MHOTO JIIOI[CI/I

V KperocTr GoIbIIre, MPOYHbIE BOPOTA.

Tam HpO,ZIaI(;T BK};CHBIﬁ 3éBTpaI<.

S 2y A 5 B9 N

Q.15. Observe the picture and complete the dialogue.

Anexceii — [Ipuser JTumal
Kyna sl ?
Jluna—  Tlpuser Asexceii!
Ceronus noroza!
S LYy B .
Aunekceit — [la, Xopomas[ !
S Toxe uay Tyz[a
JImna —  Iloiiném BMecTe.
Anekcent

Q.16. Ckoabko ciaoB (how many words)? There are a minimum of three
words in plural form, six words in masculine gender, and four words in
feminine .... Can you find them?

AlT|u|ag|c|H|B|M|A|T
B|C|B|H|O|B|b | |I|IJ
T|V|T|A|A|M|A|Y|O]|A
O|C|E|H|b|A|P|O|O|S3
B|A|B|O|Y|K|A|C|P|A
YIM|X|E|ODO|A|TO|A|Y|T
c|ai|lo|B|O|M|E|a|T|A
®| M| H|O|C|E|A|B|A|M
B|O|T|A|b|H|K|A|LI|lA
M{M|E|A|H|b|H|S|H| A
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